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H 1l ET ha 4,074, 000 4, 048, 000 1, 144, 000 1,138, 000 1, 135, 000 1,133,000
DKk (F3H) I 1, 465, 000 1,470, 000 107, 800 105, 000 103, 900 104, 000
)&\ (FFEM) ” 273, 700 272,900 124, 400 124, 800 123, 400 123,100
75‘/\/LJ: J] 16 19
Mgk (RlRr32) " 21, 100 21, 800
2IE (Rl 5) " 62, 900 63, 900 22, 900 24, 400
E_;\‘kﬁ (ﬁi@%%) J) 65, 900 64, 800
KE (Ffg15) " 150, 200 146, 600 41, 000 40, 100
3) WP ” 107, 800 107, 100
g I 2,920 2,940
TR " 59, 900 61, 200
4) 7et=da (F5EH) ” 1, 980 1,920 939 971
fAEEHEY ” 651, 000 647, 300
5) = D/EY I 2,120, 000 2,093, 000 3,320 3, 460 843, 200 840, 500
HEt ha 2, 247, 000 2, 236, 000 208, 400 208, 700 209, 600 210, 300
DkRa (FFEH) U 107, 800 105, 000
2) &8 (FFEM) ” 171, 600 171, 300 30, 100 31, 000 30, 400 30, 500
MNA L X U 5 5
M (Woir32) U 8, 650 8, 770
1 (kg7 58) ” 38, 100 38,100 9, 040 9,690
T (W) U 19, 200 19, 800
RKE (Hfg75) n 120, 800 118, 400 18, 900 18, 900
3) 32 " 11, 700 11, 900
TR 4 2, 350 2, 540
7 R RHEY) ” 27, 800 28, 700
5) % DHL/EY I 450, 300 437,200 876 936 46, 800 46, 600
A&t ha 1, 828, 000 1,812,000 935, 700 929, 700 925, 800 922, 800
DARE (%) " _ _
)&\ (FFEM) ” 102, 100 101, 600 94, 400 93, 800 92, 900 92, 600
75‘/\/LJ: J] 11 14
Mgk (RT3 " 12, 400 13, 000
ZIE (Rl 5) " 24, 800 25, 800 13, 900 14, 700
E_;\‘kﬁ (ﬁi@%%) J) 46, 600 45’ 000
KE (Ffg15) " 29, 400 28, 300 22,100 21, 200
3) HF3E 4 96, 100 95, 200
g I 2,920 2,940
TERBEY ” 57, 600 58, 700
A AEEHEY ” 623, 300 618, 600
5) = D/EY I 1, 670, 000 1, 655, 000 2,440 2,520 796, 400 793, 900
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A E
B == 91.7 91.6 99.7 99.3 99. 1 99.0
(235)
A HF| 2R 95.5 95. 4 101.2 100. 8 100. 7 100. 6
:hy
HEHF H =R 92.9 93.0 93.5 93.8 94.3 94.6
(23)
R HFI) FH =R 98. 4 98.4 98.7 99. 0 99.5 99.9
aEt
B == 90. 2 90.0 101.2 100. 7 100. 3 100. 1
(%)
AR HUF] R 92.2 91.9 101.8 101.3 101.0 100. 8




